E:=200 GPa  b:=10
wi=113.1 7% po
S

clearsym(E,I,m,f,w)

mm h:=1.25 mm

I::i.
12

- beh?
2T

m:=0.08 kg

assume ,l=real

’ 1 3.E.] solve,l 4.F2 emen’
RS W | R 2
1
3
3.E-T
4.f* emer’
1
E)
388 ) (—(1i-v/3)-1)
4.f om‘Tr
2
1
)
3.E-1 :
—4.923 — 8.526i (4 om FQ) '<11'\/§—1>
l=|—-4.923 +8.526i | émp
9.845 2 ]
3
3.E-T
4.f% emen’

OR, if you'd like to see w instead of f

clear (1)

symbolic evaluation shows the
formula, numeric evaluation
shows the value



assume ,l=real
substitute

[i=f= 1 3.E.1 solve,l,simplify 4-f2.m.71-2
T _271' m.l3 2
1
3
3.E.I
4.f2.m.71-2
1
3
SBd ) ((11-5)-)
4.f" eme-m
2
1
3
3.E.I ,
—4.923 — 8.526i (4 e FQ) '<11'\/§—1>
1=|-4.923+8.526i | crh—
9.845 2 l
3
3.E.I
4.f* emer’

clear (1)

[3.E.1 solve,l
l::l:i. 3-E-1
w m.l3

assume ,l=real




:

—4.923 — 8.526i
—4.923 + 8.5261
9.845

]m

L fu i)
1 2
351 : (1173 -1)
(w ‘m) 21 13 1
(3.213.1)3




